


S

A
[

1949 to 1958

MODELS

M20 . . 500 S.V. . 19491956
M 21 . 600 S.V. . 19491958
M 33 . 500 O.H.V. . 1949|957




British Only

MOTORCYLES AND PARTS INC.

32451 PARKLANE ST. WWW.BRITISHONLY.COM
GARDEN CITY, Ml 48135 USA INFO@BRITISHONLY.COM

RETAIL: 1-800-278-6659 WHOLESALE: 1-800-852-9253 FAX: 1-734-422-9253

WORLDS LARGEST SELECTION OF FACTORY ORIGINAL NEW AND USED PARTS
45,000 SQ. FT. OF MOTORCYLE PARTS & ACCESSORIES FROM 1911 TO 1984 FOR ALL BRITISH MAKES!
CASH FOR ALL BRITISH BIKES, PARTS AND LITERATURE

SPECIALIZING IN THE BIGGEST!

VINTAGE MOTORCYLCE PARTS

[

ENGINE REBUILDING PARTS
GASKET - SEALS - BEARINGS
BUSHINGS - PISTONS - RINGS
CLUTCHES - TUNE UP PARTS
SPEED EQUIPMENT

STOCK AND CUSTOM PARTS
SEATS - HANDLEBARS - CHAINS
TIRES - TUBES - EXHAUST PIPES

MUFFLERS - GAS TANKS - FENDERS
RESTORATION PARTS

THE ONLY!

RENOLD

JP PISTONS

VELOCETTE * ANDOVER NORTON e TEC ¢ HAYNES ¢ P&P SEATING ® WASSELL ¢ MORGO
ALPHA BEARINGS * M.A.C. PRODUCTS ¢ JOE HUNT MAGNETOS e J.J. CABLES * BUCHANAN'S
L.A. SLEEVE ¢ MEGACYCLE CAMS e T.J. WASSELL LIMITED e SUDCO INTERNATIONAL
ACE CLASSICS LONDON e CLASSIC GASKETS ¢ BRITISH WIRING * PBM ENGINEERING

TRI-COR ENGLAND e LEAK PROOF SEALS e MCA (ASTON) LIMITED ¢« GARDNER - WESTCOTT

WE ACCEPT VISA - MASTERCARD - DISCOVER - AMERICAN EXPRESS
PARTS SHIPPED WORDLWIDE !

VISIT OUR EBAY STORE
http://stores.ebay.com/British-Only-Motorcycles-And-Parts




British Only

MOTORCYLES AND PARTS INC.

32451 PARKLANE ST. WWW.BRITISHONLY.COM
GARDEN CITY, Ml 48135 USA INFO@BRITISHONLY.COM

RETAIL: 1-800-278-6659 WHOLESALE: 1-800-852-9253 FAX: 1-734-422-9253

WORLDS LARGEST SELECTION OF FACTORY ORIGINAL NEW AND USED PARTS
45,000 SQ. FT. OF MOTORCYLE PARTS & ACCESSORIES FROM 1911 TO 1984 FOR ALL BRITISH MAKES!
CASH FOR ALL BRITISH BIKES, PARTS AND LITERATURE

SPECIALIZING IN THE BIGGEST!

VINTAGE MOTORCYLCE PARTS

[

ENGINE REBUILDING PARTS
GASKET - SEALS - BEARINGS
BUSHINGS - PISTONS - RINGS
CLUTCHES - TUNE UP PARTS
SPEED EQUIPMENT

STOCK AND CUSTOM PARTS
SEATS - HANDLEBARS - CHAINS
TIRES - TUBES - EXHAUST PIPES

MUFFLERS - GAS TANKS - FENDERS
RESTORATION PARTS

THE ONLY!

RENOLD

JP PISTONS

VELOCETTE * ANDOVER NORTON e TEC ¢ HAYNES ¢ P&P SEATING ® WASSELL ¢ MORGO
ALPHA BEARINGS * M.A.C. PRODUCTS ¢ JOE HUNT MAGNETOS e J.J. CABLES * BUCHANAN'S
L.A. SLEEVE ¢ MEGACYCLE CAMS e T.J. WASSELL LIMITED e SUDCO INTERNATIONAL
ACE CLASSICS LONDON e CLASSIC GASKETS ¢ BRITISH WIRING * PBM ENGINEERING

TRI-COR ENGLAND e LEAK PROOF SEALS e MCA (ASTON) LIMITED ¢« GARDNER - WESTCOTT

WE ACCEPT VISA - MASTERCARD - DISCOVER - AMERICAN EXPRESS
PARTS SHIPPED WORDLWIDE !

VISIT OUR EBAY STORE
http://stores.ebay.com/British-Only-Motorcycles-And-Parts







GENERAL INDEX

Carburetter Settings ... ... T
Clutch and Front Chaincase ... ... ... ‘
Colour Finishes | |

Electﬁcal Equipment ...

Engine {General) ... A

Engine and Frame Markings

Frame and Fittings

Front Hub and Whee! Fittings ..

Front Fork and Fittings ...
Gearbox

Legshields (Standard) ...
Legshields (Automobile Association)

Mudguards, Oil Tank, Toolbox, Chainguards ...

Petrol Tank, Handlebar, Dual Seat, Battery Cartier, Silencers ...
Pistons ...

Rear Hub and Wheel Fittings

Rear Mudguard, Toclbox, Chainguard, Rear Brake Control, Silencer
Safefy Bars (Front and Rear)

Sidecar Chassis (Standard)

Sidecar Chassis {Automobile Association)
Spares, Repairs, Guarantee

Special Components (Automobile Association)

CStOCkIStS s e e e e e e e e
Tools and Sundries' -

13

Page

49-54

56-39

7-11
71

hoatnd =i gt
P ..

E

AT,

B

Y, R AT TR






COFPY OF
B.S.A. MOTOR CYCLE SPARE PARTS GUARANTEE

b e, e

We give the followlng gunrantee with B S.A Motnr Cycle Spare Parts, instead of r.he guarantee implied by

" statute or otherwlse, as to the quality or fitness of such parts for the purpose for which they are intended, any such

implied guarantee being in all cases excluded, por can any claim for consequential damages be entertained.

WE GUARANTEE, subject to the conditions mentioned below, that all precautions which are usual and reasonable have
bzen tiken by us to szzure exzellence of materials and workmanship, but this guarantee is to extend and be in force for six months.
oniy from the date of purchase, and the damages for which we make ourselves responsible under this guarantee are limited to
the replacement of any part which may have proved defective.

WE UNDERTAKE, subject to the conditions mentioned below, to make good at any time within six months any defects
in these respects. As motor cycles are easily liable to derangement by neglect or misuse, this guarantee does not applv to defects
caused by wear and tear, misuse, or neglect.

REPAIRS AND RENOVATIONS GUARANTEE

Any B.S.A. motor cycle sent to us to be re-enamelled, or repaired will be treated upon the same conditions as if it were
a new motor cycle, i.e., we guarantee that all precautions which are usual and reasonable have been taken by us to secure
excellence of matesial and warkmanship, such guarantee to extend and be in force for six months only from the time such work
shall have been exezuted, and this guarantee is in liew ard in exclusion of any Common Law or szatute warranty, and the damages
rezoverable are limited to the cost of any further work which may be necessary to amend and make good the work found to be
defective.

CONDITIONS OF GUARANTEE

If a defective part should be found in our motor cycles it must be sent to our Service Department, carriage paid, and be
accompanied by an intimation from the sender that he desires it repaired free of charge under our guarantee, and he must also
furnish us at the same time wit’a the number of the frame and engine, which will be found stamped on the seat or head tube lug
and on the crankcase, the name of the Dealer from whom he purchased, and the date of the purchase.

Failing compliance with the above no notice will be taken of anything which may arrive but such articles will lie here at the
risk of the sender, and this guarantee or any implied gouarantee shall not be enforceable.

\Ve do not guarantee the specialities of other firms, such as tyres, electrical equipment, saddles, etc., or of any component
part supplied to the order of the purchaser differing from our standard specifications, whether supplied with our motor cycles
or otherwise,

THE TERM “AGENT"

We do not appoint agents for the sale of our motor cycles or other goods. \We assign to motor cycle Dealers (styled
“Regional”” Dealers}, who carry on business on their own account, areas in which they have the exclusive or other right to sell
goods purchased from us. A Regional Dealer purchasing from us, or a Sub-Dealer purchasing from him, may, on our behalf
(as our agent for the purpose only) give the guarantee printed above. Any such Dealer is not authorised to advertise, incur
any debts, or transact any business whatsoever on our account, nor is he authorised, so as to bind us to give any warranty or make

"any represcntatxon on our behalt or to zell sub;ect to or with any conditions other than those contained in such guarantee.






CORRESPONDENCE.

\We maintain a skilled staff to help you with any query, technical or otherwise which you may have concerning vour B.5.A
machine. e are always anxious to help, and all correspondence should be addressed to us at:—

B.S.A. Motor Cycles Limited,
Service Department,
Montgomery Street,

Birmingham 11.

HOURS OF BUSINESS.

Our Service Department is open from §.30 am. to 3.30 p.m. Monday to Friday, excepting holiday periods, and we are
pleased to see B.S.A. owners, and if necessary, to inspect and advise on the condition of their machines.

We cannot guarantee, however, to be able to service any machine if a call is made without an appointment, and even
when calling by appointment, an owner should be prepared to leave his machine with us, in case the work cannot be completed
on the same day.

A commissionaire is always on duty to receive machines brought to the Service Department by appointment, at any time
of the day or night, on any day of the week, and similar arrangements are made for collection. Any machine delivered to us
fter hours should, however, be accompanied by full instructions in writing, together with the owner's name and address,

SERVICE LITERATURE,

An Instruction Book is supplied free of charge with each machine and contains ali the information required for routine
maintenance, and top overhaul, For the normal owner this book will cover all the work that he is likely to undertake. Further
copies of Instruction Books to cover all post-war and most pre-war models are available from the Service Department.

For the guidance of Dealers and other skilled mechanics, the Service Depariment also issues Service Manuals to cover each
model. These manuals contain detailed instructions for complete dismantling and overhaul, and describe the special tools 2nd
jigs which are necessary for this purpose. The B.S.A. owner who has considerable mechanical experience, and feels that he is
competent to carry out this more skilted type of work may obtain a copy of the Service Manual for his machine from the Service
Bepartment.

Additional Instroction Books are priced 2/— plus 3d. postage, and Service Manuals are 6/ plus 64. postage, for each model,
Full details of the machine should always be quoted.



Town. -

Aberdeen

Aoq’in_gtnn

Aldembhot =~ .. V.

Alloa- ..
A.ndovu; .
Ashington
Aylesbury
Banbury ,.
Barnsley..
Barnstaple
Bath

Bedford ..
Belfast

Biggleswade

Birkenhead
Birmingham

”» .
-

] -

Blackbarm

Blackpool
Blandford

Bolton .. .
Boscombe

Bradford..

» .. .

Bridgwater ..
. Bn;h!nn e

: anugron gt

Brynmawr
Bury-St-Edmunds
Cambridge
Canterbury
Cardiff

LIST OF B.S.A. STOCKISTS.

Save time and pestage by contacting your nearest B.S.A. Stocldst for BS.A. Spare Parts, Spare Part Catalogues, Instruction Books, Transfen, eic.
All B. S.A De.nlcrs curry stocks of B.S.A. Spare Parts but lhc following appointed Stochsts maintain & comprehensive range.

Nome of Steckisl.

.. J Dawson

. -George Cheyne (Cycles) L.
.2 Gwalia Motor Co. ..’

.- Bill Snape Ltd.

. Phillips Bros. {Aldershot) Lsd.
.. J. C. Robertson '

. Corbett & Ellis (Andover) Ltd ..

Mains of Ashington..
Eborn’s Carage

. Tnnder Bros.

T. Gamer & Son
Beb Ray Ltd.

. R. U. Holloway & Son

The Impenal Cycle Co.
W. J. Chambers & Co.

Bryants
Bob Simister Lid. ..
County Cycle & Motar Co. Ltd.

.. C.E Cope & Sons Lud. ..

Shovelbottom™s Lid.

.. Aston Auto Motors

Shuttleworth & Geldart

). Hall & Son

. Badger Garages Lid.
Charlie Robinson

. Craze Bros. ..

. C. Sidney Ld

. LK Himt ..
. Andenion & Wall

-« Redhill Motors (Brighton) Ltd. ..
:'S. L Fiic Motors Lud. ..
"Herold Tezer (Bromsgrove) Lid

. Jayne's Motarn

Barclay Motors
King & Harper Ltd.

+ Mareel Hallet

Car Distnbutors (Cardif) L:d.
Robert Bevan & Son

A:Hrus

. 2426, Thistle Street

147-149, Ho[bum Street

. Morth Pa.ru‘le "..
. 379, Blackburn Road

Birchatt Road ~ -

. 53-37, High Street

. Weyhill Road

Laburnham Terrace

. H, Walion Street. Ayleshury ..
. 2 and 3, Broad Street

Sheffeld Road

. 43, High Street ..

. 32-33-34, St. John's Road, Bathwick ..

. 25,21, 72 and 74, Shortmead Street ..
340, New Chester Road, Rock Ferry ..
. Midland 2671

38, St. Loyes
106 and 108, Donegall Pass

266, Broad Stree

Telephone No.  Telegraphic Addren.

25556
26077
525

4724
112

193
29

3204
130 Eborn's, Ayletbury.

Motobike, Aberdeen.

shot.

2543
2866
4266
084
2374
2725314
38

Rack Ferry 1432

Fastmote, Beilast.

104, Bath Row (chur.\) (closed Saturday Midland 2817

I oo,
48]-437. Hagley Road, Edgbaston 17 ..
. 376, Ladypool Road. Sparkbrosk 12 ..

172, Aston Road, 6
15-17. Great Bolton Street

1026, Devonahire Road (opp. School) ..

Salisbury Road .
119 and 121, Higher Bridge Street
473 and 475, Chrstchurch Roed
107, Manningham Lane ..

. 4l Wakefield Road

18, St Mary Street
14, Nocth Road .

11758 Gaclunhnm Road..

10, Binm‘r_lghlm Road ..
Cwmbach Garage

Kinis Road Comer
Mliten Rosd Commer

. Z¢ Dunstan’y Street

|34-140, Gty Road

. 2533, Castle Street

7

Bearwood 224617
-South 2212

.. Boscombe 33231,2

29339
22543

Hi6 Anderson & Wall,

Brid.]'wllcr.
5281
46238

3228
Bryrmawr 271
3158

330 Mlotors, C!.m':r:'Q:
227576
30022

1803

Philips, Cyeles, Alder-

Gearboa

§

Clutch -
Front
Chrinca

Frame
Fittin

-
Front Fe:

b and

Fittings

] Front E:
and Whe
Fitting-




Toum.
Carlisle ..
Carmarthen

Castleford
Chapel-en-le-Frith
Chatham

Chelmaiord
Cheltenham

Cheater .,
Chichester

Clydebank
Colchester

Colne

Coventry

Crewe

Croyden ..
Deagenham
Dalton-in-Furness
Darlington

Dartford ..
Drerby

Doncaster

Douglas {1.0.M.}
Dudley

Dundee .,
Dunstable
Eastbourne
Edinburgh
Elgin
Enfield

Exeter
Frome

Gateshead, 8
Glasgow, (3
" C4
Gloucester
Grimsby..
Guernssy
Guildford
Harrogsate
Harrow ..

Hatfield ..

Name of Stockist.
W. T. Tifien & Son
Eddic Stephens {Motors) ..

Barrett's Motar Creles (Castleford) Lid...

E. W. Bowers
Crays of Chatham Ltd.

Hadiers Carage Ltd.
Leshe Paynter

Davies Bros. ..

W. Coodndge & Co. Ltd
Weddell & Devine ..

GBR. Motors Lud. .
C. H. Scholfeld (Motors) Ltd ..
Corventry Motor Mart Lid,

Cooke’s Gareges {Crewe Ltd)
Codfreyn Ld.

Reginald Smith

H. Holme

. The Duplex Mator and Cyele Co. Led...

White Bros. ..
Schweizo Bros

Ingle's Provincial Garages Lid.
W. Cusworth {Doncaster) Lid,
Cilbert Harding .. .. .

. Chas. E. Cope & Soms Ltd. .
. Ceorge McLean Ltd.

B. G. England {Dunstable} Led .. -
Jempsens Ltd
J. R. Alexander & Co. Ltd

Farquhanons .- .- ..
D. J. Shepherd & Co. (Enfield) Ltd

P. Pike & Co. Ltd,
J. Difazia

. 0. Carmichael & Son

Bell Bres. (HP.) Lid.

. L R. Alexander & Co, Ltd

Harpers Carage

H. . Gresswells and Sons L2d ..
Millard & Co. Ltd.

E. Puscall (Guildford) Lid,

H. Adam (Prep. H. Baynes)

E. T. Pink (Harraw} Ltd. .,

W, Waters & Sons Lid. ..

. Ward Road, Riverside Drive .. .- 5087
. Hallmoon Hill, London Road .. - 843/4

.. 55f57. High Street .. .. .. 7188
. 434/6, Hertfard Road, Enfield Highwsy.. Heward [631

.. Alphington Street .. .. .. 5824
. 25, Cathenne Strest .. . .. 913
. 75, B3 and 87 High Street West

. 215/233, St. Ceorge Road
. 164-280, Great Western Read ..

. Da, Worcester Street

. VYicora Road - e N - Vi

. Staton Raed

Addrew. Telephone No.  Telegrashic Addres

Irishzate Brow 23024 Tiffn, [rishgate, Cartisle.
. 2235, Water Street C'then
33
23135,, Aire Street . e 2533
129, Town Ead ., .. . .. I44
11-19, High Street .. . . 4003

New Street 484415 Hadler, Chelmsford.

Bath Street . . . 2887
. 34 Bndge Street.. .. .. .. 510

.. East Sweet .. .. . - 2033

72114, Dumbarten Road 1429

1.2, East Hiil - .. 61312
Market Place .. .. .. .. 829
85, Landon Read 214577

10-20, Nantwich Read .. .. .. 2011

Coventry Motor Mart.
Cooke’s Motors, Crewe.

27834, London Road .. Cr}gz;l[ozn Cafrabike, Croydon.
Imperisl House, New Road Rainham
3284/2786
.. 24726, Ulventon Read 23
10-16, Crange Road Dalilél;gllon Duplex, Darlington.
203/9, Northgate .. 67757
.. 177, Lowfield Street .. .. .. 42719
.. Waibrook Road 45289

.. 7, Hall Gate e . 4594

18, Duke Street ..
193, High Street ..

Douglas 170
.+ Dudley 3464/5/6
Vehicles. Dundee.

118, Seaside e e N - 756
10/14, Lothisn Roasd .. e 4453

Jempsons, Eastbourne.
Motareyeles, Edinburgh.
Elgin 7188

Piko. Exeter.

71815
Douglas 8414 Douglas 6414 Clasgow.
Douglas 3802/3/4 Alex Msto, Glasgow.
23187 Cloucester 25167
13/15, Osborne Street .. .. .. 2202
Miflard Metors,

A LT e

i1112, Woodbridge Read . Culigiord 22742 0

11, Bawer Road .. .. .. .. 5123

Spares 3328
0044735

Pink, Harrow.

.. 32, Great North Reag . . aZis

3






. Touwn. Name of Stockisr. Addren, Telephone No. Telegraphic Address
* Londom, SE 15 .. WestEnd Motors Lnd, .. .. .. 170, High Stect, Peckham .. .. Neweross 2589
e NWAO L Sleombe Lid L 269 Newdn Lane Nesden . Clidione
| Lowestoft .. .. RWrght .. .. .. .. .. 6149, Loodon Road South .. .. 645
| Macelesfield .. .. A Wading .. .. .. .. .. 4 BuwenRed .. .. .. 3392
Maidstone .. .. Redhill Motors (Maidstone) Ltd, v« TheBroadway .. .. .. .. 309%
i Manchester,3 .. .. Tom Davies (Motos) Lid .. .. ... D3, Deansgate .. .. .. .. Blackfriars 0681
. e .. Fred Feamleylld .. .. .. 6924, Ashton Ol Rosd .. .. Est 14856 Fembike, Manchester
7 » 22 .. .. Alex.Parker .. .. .. .. 31733 Palstine Road, Northenden .. Wyi%gzhnw
C}] MesBdd L Hessds . 12 Chstefid Red Noh . 329 Henstock 329 Mansheld.
T 7Y MBddlebrough .. .. ). T, Dickinon (Middiabrough) Lad .. 160162 Lindthorpe Rod .. .. 381  Payacob, Middlesbrough.
Neath .. .. .. FredRit .. .. .. .. .. 16 WindorRad .. .. .. Neath 78

Newcastle-on-Tyna .. Dene (Newcastle) Motor Co. Ltd. .. Haymarket ve e .. .. 29165  Ened.Newastleon-Tyne
Newton Abbot .. .. J.E Green&Co... .. .. .. 81 QueenStrect.. .. .. .. 653
Newport (Mon.) .. R ). Ware & Sons ee ee .. 69, Commercal Street .. .. .. 66206
‘ 1 Northampton .. .. P.C Spokes & Son Ltd .. .. .. I, Heary Street .. .. .. .. 1160

Norwich .. . +. Chapmens {Norwich) L:d. . .. 3842, Duke Street . - .- 24715

) Nottingham .. .. E W. Campion & Sen Ltd .. .. Arkwright Street and Quesn's Road .. 83444
» .- .. Ezra Sugden Ltd .. .. .- .. 109, Cateford Road, Worksop .. 3053

| Oswestry .. .. Roy Evans .. .. .. - .. Willow Strest .. .. .. . PLHSS

Oxford .. .. .. H.F. Temple we ae e .. 09, High Street, St. Thomas .. .. 2485

Faulkner & Son .. - - -« 12, Cardigan Street - . .. 37279
.. John Avery .. e .. - .. 2287530, Banbury Road .. . 39333
.. Bob Foster .. .e .. . < 4724, Ashley Road e s .a 68

oo M Shaw&Sont .. .. .. .. U3, HighSwet.. .. .. .. 48

Peterborough .. .. Bumows Brea ceee e ww 3357, Westpate .. .. .. .. 2154

Plymouth <« «. P.Pike & Co. Lad. e .+ .. MibayRead .. .. .. .. Plymouth 63018 Pike, Plymaouth.
Pontardulais .. .. T. Gnffths .. .. . .. .. Forent Ganage .. .. .. .- Pontardulais 323

Portsmouth .. .. Jenkins & Puner Ltd. .. .. .. 2772l Copnor Read .. .. .. 2339

" .. .. Glanfield. Lawrence .. . .- oo 147/157 Foatton Road .. . .. 74331
Preston .. .. .. losham's Gangmtd .. ., .. Central Garage, Charnley St Fishergate Sales Dept. 4242 Loxhams, Preaton.
ServicaDept. 4243

'Pnnlnrough - .. Gry & Rowsell .. . e« «. Bury Gate.. .. . .. .. Bury 4
Radeiff . .. .. Willlod .. .. .. .. .. V5 Blackhum Sweet .. .. .. 2002
Reading .. .. .. Phillips & Bloomfeld Motors Lsd. -~ .. 10/24, South Steet .. .. .. 2635

w <o .. Stocker & Shepherd Ltd... .. .. 131 Ocford Road and Weylen Strect 3938

Redbll .. .. .. The Redhill Motor and Cyele Works Lid. 5054, Brighton Road .. .. .. 327
! Rotherham .. .. Emest Crow .. .. .. .. 559 Drunmond Strest .. .. Rotherham 357
. b Salsburg.. .. .. Panthunt (Wemmouh) Lid .. .. 78 EseterSwest .. .. .. Sabisbury 522273
Scarborough .. .. E Aadtew .. .. .. .. .. RowocStreet .. .. .. ..Scarborough 1337

17





























































g n

Plate 7—continued

| FRAME and FITTINGS

“M'" Group (Rigid and Spring Frame)

Plate Rei. Number
Number, Models. Part No. Description. per set.
_ M20, M2I, M33 664233 Frame complete with chainstay, and backstay 1

(rig ld)
40 M20, M21, M33 334089 Saddle front connecting bolt 1
(ngld and spnng) . .
41 M20, M21, M33 28-2080 Saddle front connecting bolt grease nipple 1
(rigid and spring)
42 M20, M21, Ma3 564206 Backstay and seat lug stud e 1
{rigid and spring}
43 M20, M21, M33 2-2393 Carrier fixing screw nut 4
- (rigid)
44 M20, M21, M33 2-1462 Carrier fixing screw washer {spring) 4
{rigid)
43 M20, M21, M33 666979 Carrier complete 1
{rigid) ' .
46 M20, M21, M33 2-1374 Carrier fixing secrew washer (plain) 4
(rigid}
47 M20, M21, M33 2-1354 Carrier fixing screw ... 1
(rigid) . .
48 M20, M21, M33 2-49 Saddle rear spring stud nut -
(rig id’ ,
19 320, M21, M33 66647 Saddle rear spring stud 2
{rigid)
50 M20, M21, M33 2149 Saddle rear spring stud nut 2
(rigid}
5l M20, M21, M33 36-392 Saddle rear spring stud washer (shakeproof) 1
(rigid} )
52 MZ20, M21, M33 30-660 Rear brake pedal fulerum pin washer (plain) !
(rigid)
33 M20, M21, M33 661708 Rear brake pedal fulcrum pin washer {shakeproof} 1
(rigid)
54 320, M21, M33 15-541 Rear brake pedal fulcrum pin nut !
(rigid) "
33 M20, »M21, M33 15-8155 Pillion footrest spindle rubber -
{rigid) .
56 M20, M21, M33 66—936 Pillion footrest spindle complete (nearside) 1
(rigid) i
37 M20, M21, M33 2-1946 ... Sidecar chainstay lug stud nut 1
[ri 1d] . * '
58 M20, ‘VI21 M33 35-722 Sidecar chainstay lug stud split pin -
{rig id. e ’
29 M20, M21, M33 - .., 334140 Sidecar chainstay lug stud ...- 1
(rigid) ,
60 320, M2I. M33 6G5--1784 Prop stand clip bolt 4
(rigid and spring)
— M20, M2t, M33 249 Prop stand belt nut z
(rigid and spring)
4l M20, M21, M33 2..861 Rear brake pedal stop plate washer I
(rig 1d)
62 MZ20, M21, M33 27-6312 Pillion foetrest spindle bolt 2
{rigid)
63 M20, M2, M33 36-382 Prop stand clip bolt washer 2
(rigid and spring)
64 M20, M21, M33 274401 Rear chain adjuster screw locknut i
(rigid)
65 M20, M2, M33 66—4620 Rear chain adjuster screw ... l
rigid}
66 M20, M21, M33 66-7034 Rear brake pedal bush !
rigid)
67 M20, M2, M33 2-923 Saddle rear spring stud washer ... &
(rigid and spring) N
63 M20, M21, M33 249 Saddle rear spring stud nut -
(rigid and spring) . .
69 M20, M21, M33 154100 Rear brake pedal fulerum pin washer (thin) 1
(rigid)
70 AM20, M21, M33 23-2080 Rear brake pedal grease nipple B
(rigid}
7t M20, M21, M33 2-79 Rear brake retaining spring bolt ... L
(rigid) .
72 M20Q, M21, M33 29541 Rear brake retaining spring bolt washer (shakeprocf) i
{rigid)
73 M20, M21, M33 21027 Rear brake retaining spring boit nut !
{rigid)

30












—— s

Plate 8—continued.

FRAME and FITTINGS

“M" Group (Rear Suspension)

Plate Ref. Number
Number. Models. Part No. Description. per set.
17 33 (rigid and 65-9271 Air cleaner !

spring) M20 (rigid) ... ‘
—_ M33 (rigid and 19-5203 Ajr cieaner ciement !
spring) MZ20 {rigid)
—_— M20, M21 (spring} 19-5202 Air cleaner element 1
M21 (rigid) ]
— AM20, M21, M33 19-5206 Air filter felt ring B
{rigid and spring)
i8 M33 65-1237 Air cleaner adaptor (up to 1934) ... 1
(rigid and spring}
19 M33 29-541 Alr cleaner elbow screw washer (shakeproof) (up to 19354} I
(riggd and spring)
20 M20, M21, M33 15-7161 Carrier fixing screw .., 4
{spring)
21 320, M?21, M33 6765921 Carrier complete I
{spring)
22 M20, M21, 2133 2-1462 Carrier fixing screw washer {spring) )
(spring)
23 M20 321, >M33 2-2393 Carrier fixing screw nut 4
{spring)
24 M20, M21, M33 249 Saddle rear fixing stud nut 4
(spring)
23 M20, M21, AI33 2-923 Saddle rear fixing stud washer 4
[spring)
26 M320, M21, M33 67040 Saddle rear fixing stud 2
(spring)
27 M20, M21, M33 66203 Lifting handle t
spring)
29 AM20, M21, M33 31--68 Plunger carrier coclumn balt tup 2
(spring)
29 M20, 321, B33 674132 Plenger spring (top) 2
{spring)
30 Bbi20, M21, M33 . 894257 ... Plunger spring top coliar 2
(spring) AR N S e
31 M?.O,{ M21, M33 ... 1894249 ... Plunger spring inner shroud e . 2
. spring) . :
32 M20, M21, M33 . B9—4248 ... Plunger spring outer shroud 2
spring) © e .
33 M20, M21, M33 - ... 674134 . Plunger carrier column assembly ... - e
(spring} . : . :
34 A20, M21, M33 67— 136 Plunger carrier column screwed pluy 2
(spring}
35 220, M21, M33 3-1399 Clamp lug bolt 2
{spring}
36 M20, M21, M33 891046 FPlunger complete 2
(spring)
37 M20, M21, M33 67125 Rear spindle clamp lug (nearside) H
{spring)
38 AM20, M21, M33 66—4707 Clamp lug bolt washer (shakeproof 2
spring)
38 M.’ZO,( gﬂl,g M33 15-1312 Rear wheel adjusting screw spring p
{spring)
40 M20, Em,g M33 674127 Rebound spring top collar ... 2z
{spring) _
41 M20, M21, M33 35-722 Sidecar chainstay lug stud split pin 2
{spring)
42 M20, M21, )MSS 6741382 Sidecar chainstay lug stud locknut 1
{spring
43 M20,( 1%12!,)1!{33 67-4131 Sidecar chainstay lug stud ... i
spring
44 M20, K‘ml. M33 2-1946 Sidecar chainstay lug stud nut 1
{spring}
45 20, M21, M33 661603 Rear wheel adjusting screw... z
(spring}
46 M20, M21, M33 246 Clamp lug bolt nut ... 2
{spring)
47 M20, M21, M33 674126 Rear spindle clamp lug (oiiside) 1
(spring)

34






Plate 8—continued

FRAME and FITTINGS

M Group {Rear Suspension).

Plate Ref. Number
Number, Models. Part No. Description. per set.
48 M20, M21, M33 28-2080 Clamp lug grease nipple =
{spring) 2

49 M20, M21, M33 895-4240 Rebound spring outer shroud =
{spring)

50 M20, M21, M33 89-4241 Rebound spring inner shroud 2
{spring} 2

51 M20, M21, M33 89-4258 Rebound spring bottom collar £
(spring) _ ,

52 M20, M21, M33 894259 Rebound spring {bottom) -
(spring) , ‘

53 M20, M21, M33 3-1399 Plunger carrier bottom clip bolt {nearside) !
(apring)

34 M20, M21, M33 664707 Plunger carrier column bolt washer (shakeproof} 4
{spring) ‘

53 M20, M21, M33 2-46 Plunger carrier column bolt nut 3
(spring)

56 M20, M21, M33 67129 Plunger carrier bottom clip bolt distance washer 2
(spring) . . .

57 M20, M21, M33 246 Pillion footrest ‘anchor bolt nut 2
{spring) .

28 M20, M21, M33 2-2903 Fillion footrest anchor bolt washer {spring) 2
(spring)

59 M20, AM21, M33 65-7063 Rear brake pedal return spring 1
{spring)

60 M20, M21, M33 654743 Prop stand lug comgplete {
{spring)

61 M20, MZ21, M33 674183 Piilion f{ootrest adaptor 2
(spring)

62 M20, M21, M33 666851 Rear mudguvard front fixing bracket complete 1
(spring) :

624 MG, M21, N33 2973533 Piilion footrest rubber 2
{spring}

63 M20, M21, M33 2487581 Pillion footrest 2
(spring) : :

63a M20, M21, M33 674128 ... Plunger carrier buttom clip bolt and silencer support 1
(spring) e

64 M20, M21, M33 36-382 Plunger carrier bottom clip bolt and silencer support washer

. (spring} (shakeproof) ... . I

85 M20, M21, M33 249 ... Plunger carrier bottom clip and silencer support nut ... i
{spring)

66 M20, M21, »33 297564 Pillion footrest swivel bolt ... 2
spring)

67 M20, M?l, M33 29-7560 Fillion footrest anchor bolt 2
{spring)

63 020, M21, M33 . *29-7561 Billion footrest with stiffening piece 2
{spring)

63 M20, M21, M33 36-382 | Pillion footrest swivel bolt washer (shakeproof) 2
{spring)

70 M20, M21, M33 24-6040 Pillion footrest swivel bolt nut 2
(spring)

7t M20, M21, M33 66-4198 Chainstay bridge connecting stud ... 1
(spring) _ ,

72 M20, M21, M33 2-522 ... Chainstay bridge connecting stud washer {spring} 2
{spring)

73 M20, M21, M33 2146 Chainstay bridge connecting stud nut 2
(spring)

-_ Mg, M?._l , Ma3 30 630 Pillion footrest ancher belt washer {plain} 2
(spring)

*Superseded by 29-7331 pillivn fwotrest.

k{33



Piate 9.

FRONT FORK and FITTINGS

“M"™ Group

Front Fork and Fittings
UM Group

h1:]

II‘-\Q

A D oA
&

i3

g

Froat Fork
snd
Fittings

Front Hub
and Whee!
Fittings

Rear Hub
and Wheel

Fittings

Mudguards
Qil Tank

Tooibox anc
Chainyuard:

Haodlebar
. Dual Seat
Battery Carrie
. and Silencer

a1 Mudguarc
i Toolbax
Chainguards
jRear Brake

! Contral
and Sileacer
!

{  Special
iComponents
12 supplied to
| Automigbile
i Asrociation

i

:Legshields

P

Tools anc
Sundries

Eiectrica:
Equipmer

Sidecar

Chassis

i Carrier
| Pann:







Plate 9—continued

FRONT FORK and FITTINGS

“M" Group

Plate Ref. Number
Number. Models. Part No. Description. per set.
26 M20, M21, M33 249 Steering damper anchor plate stud nut ... 1

(rigid and spring)
27 M20, M21, M33 25-5241 Stzering damper bottom plate I
(rigid and spring)}
28 M20, M21, M33 25-3247 Steering damper star washer 1
(rigid and spring}
29 M20, M21, M33 65-5328 Steering damper centre 1
(rigid and spring} :
30 M20, M21, M33 65-5380 Steering damper friction washer 2
(rigid and spring)
31 M20, 321, M33 65-5410° Fork sliding tube {offside) coinplete (77 brake} l
(rigid and spring)
H A2, M2, M33 65-3420 Front fork sliding tube (uffside) complete (87 brake) 1
(rigid and spring)
32 M20, M21, M33 66-5089 Front fork bottom voke l
(rigid and spring)
33 M20, M21, M33 65-3433 Front fork bottom yoke bolt 2
{rigid and spring)
5 M2 AN DMeded dap L FuNs [Front fork bettom yvole bolt . 2
34 M20, M21, M33 36-382 Front fork bouttom yoke holt nut \nshcr 2
{rigid and spring)
33 AM20, M21, M33 24-5160 Front fork bottom voke bolt nut ... z
(rigid and spring}
R AL, NZ2LL OME 67 =514 Front fork ahalt (87 bhrade)p ... 2
(spring)
—_— MO, NE2E, M3a S8.-316 ] oot fock shatt 187 brake) - 2
{rigid}
37 M20, M21, M33 29-5347 ... Front fork bottom bearing ... . 2
. {rigid and spring} - . ’
33 M20, d21, M33 29-5283 Front fork shaft plug 2
(rigid and spring) ) )
—— 26, M21, M3 2Y-33038 IFork plug washer 2
{rigid and spring)
39 M20, M21, M33 2-2503 Fork end bolt washer {spring) 1
(rigid and spring)
10 M20, M21, M33 2-292 Fork end drain plug washer 2
(rigid and spring}
41 M20, M2L, M33 2-1309 Fork end drain plug 2
{rigid and spring)
42 M20, M21, M33 85-5295 Fork end bolt (nearside} 1
43 (rigid and spring) 65-5408 Fork sliding tube (nearside} complete (I bra.ke} 1
43 M20, BM21, M33 67~-5057 Fork sliding tube {pearside) complete {8° brake} 1
{rigid and spring)
44 M20, M21, M33 29-5348 Front fork top bearing 2
{rigid and spring}
14 AM20, M2y, M33 G5-54124 Front fork top bearing 2
{rigid)
45 M20, MZ1, M33 29-5320 Top bearing circlip pd
{rigid and spring)
46 M20, M2i1, M33 29-5313 Front fork oil seal 2
} {rigid and spring)
17 A2 A2, M33 G3-3448 Front fork top yoke i
{rigid and spring)
13 M M2I, M3s 65-3443 Steering head lock 1

(rigid and spring)

B3-5440

Steering head lock grub serew

KE]

Front Hl:b
and Wheel
Fittings

Rear Hub
and Wheel

Fittings

Mudguards
+ Oil Tank
Toclbox and

Chainguard:

* Petroi Tank
H dlebar
| Dunl Sest
Battery Carrie
i and Silencer
sar Mudguar<
Toolbox
g
iRnr Brake
H

Control
‘and Silencer

Special
Components
3 supplied to
Automobile
Associntion

Legshields

Pa e L e

Tools and
Sundries

Eiectrica:
Egquipmer

Front and R
Safety Bar
Swiety Bar

i pod Legahiel

Sidecar
Chassis

’

t Carrier
Pann!
















FRONT HUB and WHEEL FITTINGS

Plate 11.

M Groip (Rigid and Spring Frame) (8" Brake)

FEOSHY -5y ok pue g ssop) aadmon WAL JUOLE =S5 L IV Y N

AMPWN IR oy ey sy iy arepadoadde

oy Huppr Aq panubor ysiuy ajes asuapd swiy puw sqng g SOAYRY A —sasiag

Supaea qamn sinuodwos Supapse ueipy

(sneig g)  dnoin 4,
s3ui3g |9aYAA pue gnp juoag

ek b L L e i L0 39 KB Y T S i g

et

2¥ I¥ Or KL 80 L 9T €

6l Oz 12 22 2 %z &

+











































Rear Mudguard, Toolbox, Chainguard, Rear Brake Control and Silencer

Plate 16

“M” Group (Spring Frame)

(6 9 ST ¥E €

i

iz

(eureay Bupsdg) dnotn LWw
mU_LOHMUUU<

38







o

.

Lo

1
2
A

L

.

i it B g g e P i 'y e 8 s e

Plate 16—con/inued

Rear Mudguard, Toolbox, Chainguard, Rear Brake Centroi and Silencer

“M"™ Group (Spring Frame)

Plate Ref. Number
Number. Models. Part No. Description. pet set.
13 M20, M21, M33 15-7563 Toolbox fixing clip bolt distance washer 1
(spring)

14 M20, M21, M33 24-8928 Toolbox fixing clip !
{spring) . i

15 M20, M21, M33 - 21402 Toolbox fixing clip bolt 1
(spring) ,

16 M20, M21, M33 674030 Mudguard fixing bolt {offside) (seatstay} 1
{spring)

— AM2n, M21, M33 ... 2-7899 Toeolbux clip bolt washer {plain) !
{spring)

17 AZ20, M21, M33 67-6761 Mudguard fixing bolt spacing washer [(offside; 1

{spring)

18 M20, M21, M33 66-6831 Rear mudguard with fixed fittings !
{spring)

19 M20, M21, M33 24-6770 Rear mudguard support bolt z
spring)

20 M20, A21, M33 2-923 Rear mudguard suppert bolt washer (plain} 2
{spring)

2t 320, M21, M33 36-382 Rear mudguard support bolt washer (shakeproof) 2
(spring) ]

22 M20, M21, M33 249 Rear mudguard support bolt nut ... e
(spring}

23 320, M21, M33 27-5884 Mudguard fixing stud {seatstay) (nearside} !
{spring)

24 M20, M21, M33 676761 Mudguard fixing stud spacing washer (nearside) 2
{spring}

25 20, M2, M33 2-522 Mudguard Axing stud washer (spring) (nearside} 1
(spring)

26 20, M21, M33 2449 Mudguard fixing stud nut (nearside) 2
(spring)

27 M20, M21, M33 2-1354 Rear mudguard support belt (bottom) 2
{spring) .

25 M20, M21, M33 666853 Rear mudguard suppurt complete {ofside} !
(spring) .

29 M20, M2I, M33 15447 Rear mudguard support bolt nut (bottom) =
spring} :

30 M20, M21, M33 §6-6336 .Rear mudguard support complete {nearside) !
spring) .’ P s 5 . '

31 M20, M21, M33 2449 Mudguard fxing bolt nut (ofside) l
{spring} :

32 M2Q, M21, M33 2-522 Mudguard fixing bolt washer {spring) (offside} ... 1
{spring)

33 M20, 21, M33 2-2395 Toolbox and mudguard fixing bolt nut ... 1
(spring)

34 M20, M21, M33 2-1462 Toolbox and miudguard fixing bolt washer (spring) 1
(spring)

33 M20, M21, M33 249 Mudguard chainstay bridge boit nug I
spring)

36 M20, M21, M33 36-382 Mudguard chainstay bridge bolt washer (shakeproof) ... i
(spring

37 M20, M21, M33 2-923 Mudguard chainstay briclge bolt washer (plain)... 1
{spring)

38 M20, M21, M33 2-923 Mudguard chainstay bridge bolt washer (plain)... 1
(spring)

39 M20, M21, M33 2486770 Mudguard chainstay bridge bolt [
{spring)

10 M20, M2t, M33 25-7180 Toolbox clip bolt washer {plain) (inside box) 1
{spring)

4] M20, M21, M33 1-5069 Chaingeard fixing bolt {rear) |
{spring)

42 320, M21, M33 2-923 Chainguard fixing bolt washer {plain) (rear) 1
{spring) ;

43 N20, M21, M33 36-382 Chainguard fixing bolt washer {shakeproof) {rear) 1
(spring)

44 M20, M21, M33 2443 Rear brake rod toggle screw nut ... 1

) (spring)

43 M20, M21, M33 2-310 Rear brake rod tecggle screw !
(spring)

46 M20, M21, M33 65-7071 Rear brake rod complete 1
ispring) ) .

47 M20, M21, M33 2.23935 Rear brake rod spring loccknut ‘

{spring)

Giy

























LEGSHIELDS

(Autornobile Association)

Plate 19

uopE}0ssY 3iqowoiny

spiatys3an

[th







Plate 20 TOOLS and SUNDRIES
M+ Group

Tools and Sundries
Group
g 2
é 3
4
S

o
>
4l
#

70







ELECTRICAL EQUIPMENT

Plate 21

“M"” Group

&:nhu -Z A1l
juawdinby |eoa3093

22 If 2¢ %

&ll.ov.
—— 6E

@

B¢

ot

P/
P P
“olg;,::'_ s ]

o ign
s g

el
i

3, 7. -
AT
e

7 A

[ %4

(]
B~




















































British Only

MOTORCYLES AND PARTS INC.

32451 PARKLANE ST. WWW.BRITISHONLY.COM
GARDEN CITY, Ml 48135 USA INFO@BRITISHONLY.COM

RETAIL: 1-800-278-6659 WHOLESALE: 1-800-852-9253 FAX: 1-734-422-9253

WORLDS LARGEST SELECTION OF FACTORY ORIGINAL NEW AND USED PARTS
45,000 SQ. FT. OF MOTORCYLE PARTS & ACCESSORIES FROM 1911 TO 1984 FOR ALL BRITISH MAKES!
CASH FOR ALL BRITISH BIKES, PARTS AND LITERATURE

SPECIALIZING IN THE BIGGEST!

VINTAGE MOTORCYLCE PARTS

[

ENGINE REBUILDING PARTS
GASKET - SEALS - BEARINGS
BUSHINGS - PISTONS - RINGS
CLUTCHES - TUNE UP PARTS
SPEED EQUIPMENT

STOCK AND CUSTOM PARTS
SEATS - HANDLEBARS - CHAINS
TIRES - TUBES - EXHAUST PIPES

MUFFLERS - GAS TANKS - FENDERS
RESTORATION PARTS

THE ONLY!

RENOLD

JP PISTONS

VELOCETTE * ANDOVER NORTON e TEC ¢ HAYNES ¢ P&P SEATING ® WASSELL ¢ MORGO
ALPHA BEARINGS * M.A.C. PRODUCTS ¢ JOE HUNT MAGNETOS e J.J. CABLES * BUCHANAN'S
L.A. SLEEVE ¢ MEGACYCLE CAMS e T.J. WASSELL LIMITED e SUDCO INTERNATIONAL
ACE CLASSICS LONDON e CLASSIC GASKETS ¢ BRITISH WIRING * PBM ENGINEERING

TRI-COR ENGLAND e LEAK PROOF SEALS e MCA (ASTON) LIMITED ¢« GARDNER - WESTCOTT

WE ACCEPT VISA - MASTERCARD - DISCOVER - AMERICAN EXPRESS
PARTS SHIPPED WORDLWIDE !

VISIT OUR EBAY STORE
http://stores.ebay.com/British-Only-Motorcycles-And-Parts




British Only

MOTORCYLES AND PARTS INC.

32451 PARKLANE ST. WWW.BRITISHONLY.COM
GARDEN CITY, Ml 48135 USA INFO@BRITISHONLY.COM

RETAIL: 1-800-278-6659 WHOLESALE: 1-800-852-9253 FAX: 1-734-422-9253

WORLDS LARGEST SELECTION OF FACTORY ORIGINAL NEW AND USED PARTS
45,000 SQ. FT. OF MOTORCYLE PARTS & ACCESSORIES FROM 1911 TO 1984 FOR ALL BRITISH MAKES!
CASH FOR ALL BRITISH BIKES, PARTS AND LITERATURE

SPECIALIZING IN THE BIGGEST!

VINTAGE MOTORCYLCE PARTS

[

ENGINE REBUILDING PARTS
GASKET - SEALS - BEARINGS
BUSHINGS - PISTONS - RINGS
CLUTCHES - TUNE UP PARTS
SPEED EQUIPMENT

STOCK AND CUSTOM PARTS
SEATS - HANDLEBARS - CHAINS
TIRES - TUBES - EXHAUST PIPES

MUFFLERS - GAS TANKS - FENDERS
RESTORATION PARTS

THE ONLY!

RENOLD

JP PISTONS

VELOCETTE * ANDOVER NORTON e TEC ¢ HAYNES ¢ P&P SEATING ® WASSELL ¢ MORGO
ALPHA BEARINGS * M.A.C. PRODUCTS ¢ JOE HUNT MAGNETOS e J.J. CABLES * BUCHANAN'S
L.A. SLEEVE ¢ MEGACYCLE CAMS e T.J. WASSELL LIMITED e SUDCO INTERNATIONAL
ACE CLASSICS LONDON e CLASSIC GASKETS ¢ BRITISH WIRING * PBM ENGINEERING

TRI-COR ENGLAND e LEAK PROOF SEALS e MCA (ASTON) LIMITED ¢« GARDNER - WESTCOTT

WE ACCEPT VISA - MASTERCARD - DISCOVER - AMERICAN EXPRESS
PARTS SHIPPED WORDLWIDE !

VISIT OUR EBAY STORE
http://stores.ebay.com/British-Only-Motorcycles-And-Parts




'!ﬁrtttﬁh @nlg ;a;ri:ne _ Make: Model:

MOTORCYCLES AND PARTS INC. Frame #
32451 PARKLANE ST
GARDEN CITY, MI 48135 USA WWW.BRITISHONLY.COM
PHONE: 800-278-6659
FAX: 734-422-9253 INFO@BRITISHONLY.COM
Quantity | Part# Description Each Amount
Date / / Customer # Salesperson
Card Number Expires Subtotal
Name
Insurance
Address
City/State/Zip Shlppmg
Phone / Fax Total
Michigan Residents
Email Add 6% Sales Tax
Amount
Signature Enclosed




Name

Address

City
State

Zip

FOLD

Mritish Only

MOTORCYCLES AND PARTS INC.
32451 PARKLANE ST
GARDEN CITY, Ml 48135 USA

FOLD

USE
FIRST CLASS
LETTER
POSTAGE




'!ﬁrtttﬁh @nlg ;a;ri:ne _ Make: Model:

MOTORCYCLES AND PARTS INC. Frame #
32451 PARKLANE ST
GARDEN CITY, MI 48135 USA WWW.BRITISHONLY.COM
PHONE: 800-278-6659
FAX: 734-422-9253 INFO@BRITISHONLY.COM
Quantity | Part# Description Each Amount
Date / / Customer # Salesperson
Card Number Expires Subtotal
Name
Insurance
Address
City/State/Zip Shlppmg
Phone / Fax Total
Michigan Residents
Email Add 6% Sales Tax
Amount
Signature Enclosed




Name

Address

City
State

Zip

FOLD

Mritish Only

MOTORCYCLES AND PARTS INC.
32451 PARKLANE ST
GARDEN CITY, Ml 48135 USA

FOLD

USE
FIRST CLASS
LETTER
POSTAGE






